The Division Debate
The teacher asked the class to use their counters to find a solution to the division question below:

What is 20 ÷ 6?

Levi and Aaron have both come up with the same solution but have different models. They are arguing over who has the right model. 

Levi’s Solution
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Aaron’s Solution
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Your group has been asked to help these two boys to resolve their argument. Can you decide who is right? Can they both be right? Decide as a group what you should tell the boys.

Write a letter to the two boys explaining what your group had to say. Use the response sheet provided. Each group member should write their own letter.

The Division Debate

Name: __________________________________________
Write your letter to Levi and Aaron in the space below.


Dear Levi and Aaron:








